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0 410000000 1] fis = fi + h(—fi +cos(kh)), k=001, f=200000
0 f£0000,kkDO f,0 k=1000000000000000000000.

\
KF=2;

H=0.01;
for (I=1; I<=100; I++) {
F = F+H*x(-F+deval(cos(I*H)));
print (I*H,0); print(" ",0); print(F);




042 0000000 2
b ezz200000000000DO0DOOOO0OOO0ODO. DO0ODOO0OD

Tpy1 = Tp + hpg,
Pk+1 = Pk,
Ye+1 = Yk + hz,

241 = 2z—98h (OODOODOODODODOODOO)

I‘OZO,pO: 1,y020,20:5, h=0.1.

import ("glib3.rr");
Glib_math_coordinate = 1;
glib_window(0,-2,2.0,2.0);
glib_1ine(0,0,2.0,0 | color=0xf£f0000);

H=0.1;
for (K = 0; K<20; K++) {
print ([X,P,Y,Z]);

Xnew = X+H*P;
Pnew = P;
Ynew = Y+H*Z;

Znew = Z-9.8%H;
glib_line(X,Y,Xnew, Ynew) ;

X = Xnew;
P = Pnew;
Y = Ynew;
Z = Znew;
glib_flush();




